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C-257

B.Com. (Part-IT) Examination, 2019
ACCOUNTANCY & BUSINESS STATISTICS

Second Paper
(Cost Accounting)

Time allowed : Three hours
Maximum Marks : 100

SECTION-A (Marks : 2 x 10 = 20)
Answer all ten questions (Answer limit 30 words). Each question carries 2 marks.
Qg - A (31F : 2x 10 = 20)
TR T W1 $ S I (I EE 50 9R) | VRE TH 2 AF HE |

SECTION-B (Marks : 8§ x5 =40)

Answer any five questions out of seven (Answer limit 200 words). Each question carries 08
marks.

WUE -4 (37 : 8 X5 = 40)
w2 e uta vl & It SR (It HIRT 200 T) | WS TR 08 FF F R |

SECTION-C (Marks : 20 x 2 =40)

Answer any two guestions out of four (Answer limit 500 words). Each question carries 20
marks.

vz~ | (37 : 20 X 2 = 40)

IR A & 6 2 wet & I ST (ITCH 500 =) | TS T 20 JFHR |
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SECTION -A
@ug ~ A

1. @  Whatdo you understand by opportunities cost ?

ST ST & S A E ?

(i) What is meant by Re-order level ? Give formula.

y:m&mwﬁmw%?wvﬂﬁﬁ‘ll

iw¥ Calculate the amount of bonus and total wages under Emerson plan :

Standard output in 10 hours 120 units

‘Actual output in 15 hours 198 units
Wages rate ¥ 4 per hours

AT ITEA 10 WUel A 120 513
T IeATE 15 Ui A 198 313

et gt T 4 Wi "o
e A 3 ot T <6 TRy e e ST <61 IR T SR |
What is Cost Sheet ?  http://www.mgsuonline.com
T G TR 7
¥~ What journal entry is passed for accounting of abnormal wastage ?

ST &9 ¥ SEiwT T e S 2 7

V(,vi‘)/ Name five items of expenses which are included only in financial books.
St el St 1 gfif <t 9 e ogm Y oTe wal % T =an] |

(.v-}i‘{f A bus runs 90,000 kms. in a year. One litre diesel is required for 12 kms. and the
cost of diesel per litre is ¥ 10.00. Calculate cost of diesel.

o wa af § 90,000 feh wec | 12 Feft IR & fou & A dve B
STavEEal yedt & | dFe & @ € 10.00 v S R | dive i @ I
HI |

(viff) What do you mean by the word ‘Variance’ ?

T’ TR A FTATEAE ?

M What is meant by Break-Even ?
u-forede @ v afoma 8 2

Give any two object of budgetary control.

Foredt e % i <) 3eva Tagy |
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SECTION-B

|E -9

(./ Give basic difference between reconciliation statement and memorandum

.,,3./ Give the objects and advantages of cost accounting.

K The following information is given for the year 2018.

reconciliation account ?

[T Ryor-g3 o o qEyE @R § TE =R T4 |

ANTd ST+ Ieg T A Faisy |

FH 2018 F e P gEn o
First 6 months | Last 6 months
4 4
Sales 2,70,000 3,00,000
Less : Total Cost 2,40,000 2,58,000
Profit 30,000 42,000

g

Calculate the following :

ﬁn%ﬁaaﬁmmaﬁﬁm:

Break-even point (in value and unit)

/\}“1) Margin of safety
g i wfi

)
“

725,000 TR ¥ R sTTervas faa Y A1 HH TG | A R S0% T |

C-257
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aafyde-fag (TR @ i H )

i) Profit earned when sales are T 5,00,000
e Fara 7 5,00,000 B e it @ |

) Sales required to earn a profit of T 25,000 after tax, assume tax rate being 50%.

P.T.O.
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From the following particulars, compute the cost of passenger kilometres for the year
2018-19.

frfeaRaa arfest @ 2018-19 a4 & fora wfy 2t Recidfter e 310 Hifv

No. of buses 4

Cost of the buses T 2.80,000

Yearly Depreciation 20% of cost

Annual repair & maintenance 15% of cost

Wages of 8 drivers T 1000 cach per month
Wages of 16 cleaners 2 600 each per month
Interest of investment 10% per annum

Rent of Garage T 2,000 per month
Director's fees T 12,000 per annum
Office establishment ¥ 2,000 for a quarter
License and taxes T 2,500 for a quarter
Diesel etc. < 30,000

Realisation by sale of old tyres & tubes ¥ 10,000 per annum

200 passengers were carried over 30,000 kilometres during the year.

T4 % 2R 200 G Y 30,000 Findtz & s |

Write short note on :
(i)  Piece rate with guaranteed day rate system of wages.
<P R A S wr wRd R FE

(ii) Rowan Premium Plan

V= Wiftrrm giemn

Y manufactures stools, chairs and tables. The materials and labour costs, per unit, are
separated as.follows :

W WA, Tl T Aell BT I T 8 | 9 &9 F Wy 318wl 3k 2w v P
THR § :
Stool Chair Table

® ® (4]
Material cost 60 %0 300
Wages 80 100 250
Production (units) 900 450 100
Total factory overheads ¥ 33,000
FREHT 1 HeT I9H4 T 33,000

You are required to determine the work cost of each type of fumiture after assuming
that one table is equivalent to four stools and two chairs are equivalent to one table for
the purpose of factory overhead allocation.

I e e F ST SREET a6 T B0 § | wREET 39y  we
% for st 78 W 2 % 0@ A9 SR el & e @ 7 ) Rt o A S wgd )
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SECTION-C
WU -9

9. What is meant by ‘Material Control’ ? Why is it considered an important part in cost

accounting system ?

Frht P & T ST 2 2 T G 1 9 T HEU 37 il G A e 7

/”f(}r A product passes through three distinct processes to completion. 10,000 units were
introduced (valued at T 50,000) in process A. Following expenses were incurred :

T IeareA U 2 & g oft farfiv st @ g owan R 1 wfear A # 10,000 sETRET
(% 50,000 T ) T 7 | Fort o R T

Process Process Process

A B C
Machine
Expenses T 5000 4,000 3,000
Labour X 20,000 30,000 25,000

Direct expenses T 11,000 16,400 4,600
Normal wastage 5% 10% 5%

Scrap value per

unit T 1.00 2.00 2,50
Actual output
(units) 9,000 8,000 7,700

Prepare process accounts showing the cost of output and the cost per unit at each stage
of manufacture along with normal wastage, abnormal wastage account and abnormal

effectives account.  http://www.mgsuonline.com
I F TIF TR Tl 67§ T 71 I Y A SO0 TR ¢ N @I
T AT & W, SR G Gl 3T SR s @ st wogd | “

\)1./ Explain budget, budgeting and budgetary control. Differentiate beméen estimate and

budgeting. _ : R
W,WﬁﬂmmﬂﬁﬁﬁwﬁmltﬁﬁmﬂﬁﬁﬁﬂﬁWWI
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Calculate the material variance with the help of following data :
frfafaa woet | wmmft fereror & mom Hife
Standard  Material  Quantity  Rate ¥
X 40 kg 4 per kg
Y 60 kg S perkg
Standard yield = 80 units
Actual Material  Quantity  Rate %
X 600kg  Sperkg
Y 400kg 6 perkg
Actual yield = 700 units
Calculate all the material variance :
P
(1) Material cost variance
LD IR Y
(ii) Material price variance
ot g R o
(iii) Material usage variance
wredt 3ugm fee
- (iv) Material mix variance
arft firg fammon
(v) Material yield variance
wrft Jearer famrr
http://www.mgsuonline.com
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